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qrianferar & ford A Instructions for the candidates :

I. GTMT OMR 3IWT A& U HGAT 1. Candidate must enter his / her
Ty yfeasr maiE (10 AHl F) Question Booklet Serial No.
Havy ford | (10 Digits) in the OMR Answer

' Sheet.

2 q(?&"lﬂ{? Furgya 397 vgl H @ 2. Candidates are required to give their

I 1 answers in their own words as far

as practicable.

3. el 3R &g w g gU 3% T’Ifa)' 3. Figures in the right hand margin

fffe #&vd &1 indicate full marks.
4. g¥l &l WFTW %’# & ﬂ?@ 4. 15 minutes of extra time have been
gl &1 15 e @1 ke a9q allotted for the candidates to read
fear mar 21 the questions carefully.
5 g8 NI 37%3’7 gt @vsl 4 &8 — 5 7This question booklet is divided into
&Ug-37 U9 WUg-&/ two sections — Sectlon-A and
Section-B.
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6. m-ar g 703@% w:r;}. ﬁv:?ﬂ

8.

4 f&=t 35 gva¥ ar I A
Afard &1 35 geat @ sifuw @ I
é#""’mssaﬂg?gmfaﬁgﬁm
Y% & forg 1 simw iR &1
3 37 & fow 3y 4 T OMR
IW-7F § frg m wg faEed @
At / Ft avr o @ g W
fEdl st wew & wgeaw / WA
Wl / &g / ArgA T FT OMR
IW uFE H wahr FwAr 4 8
=T GRAT Sl 3\ F

@vg - & § 20 7Y I 9T E |
yew & fog 2 sw Pt &, Frd
q@ et 10 WAt @ Fww AT
sfard & | w73 st 5a @8 H
6 3 ITig wvw A M3 &, 7T &
forg 5 siw Fria & frd @ Rt
3w=ﬁaira'wréwaﬁaﬁt,

fral @R & Felagii® IYFOT F 8.

53T qotaar afad & |

In Section-4, there

70 objective type questions, o, ¢ by
whick any 35 qtres_tions are to
answered. If more than 35 quest;
are answered, then only first 35 o
be evaluated. Each question cqpy
1 mark. Darken the circle with p

/ black pall pen against the COrrey
option  on OMR Answer ghe,
provided o You: Do not
whitener / liquid / blade / natg
etc. on OMR Answer §
otherwise the result will 4,

invalid.

In Section - B, there are 20 shop

answer type questions, eqcp
carrying 2 marks, out of which any
10 questions are to be answereq
Apart from this, there are 6 long
answer type questions, eqch
carrying 5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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T - A / SECTION - A

2 (B) n= Hr ; K,
(C) M= “?' - - %_
:cl)}l.lc:: )O; the following is correct for refractive index of mean colour ( yellow
LS B pelet
@ =g | D u=t

2. aqiazmam'}aﬁaa&qgﬁmﬁ%

(a) I B) I
(C) 100 cm (D) 10 cm
Power of parallel sided glass-slab is
(A) infinity Bl zero
(C) 100 cm (D) 10cm
3. itg ol-fagiuer swmeR g @
(A)  (n, —K)A B) Ky~ 1)

©) (1, +1,) D) (n, +1,)A
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Angular dispersion is equal 10
B (w, — ¥

(A) (1, -1, )A
‘D) ‘pu * ’J’)A

(C) (B, + M, ) .
Gty qezet & ferg Frefetad FRA s ?
A f,=f B fo>/e
o e
©  f,<f. D) So<<Je
Which of the following is correct for Astronomical telescope ?
(A) YA V;ai fs>fe
< f,<f, D)  Sfo<<te
g H ¢ T O EA €
(4) ¥ B Fd
© 1 D) 9x10°
The value of €, in air is
(A)  zero ‘(B"/ infinity
D) 9x10°

(C) 1
Fﬂqﬁ-ﬁiﬁwmmwaﬁmmwmm%

(A qE m 2

© 2 O JeE

The value of force acting on a charged particle in electric field is
(A) qE _ (B) %

. f (D) JqE




~1

c

A Y= *1'rLC B

A) C c
B

) 2C 2
(D) C

Equivalent capacity between A and B in figure 1s
c C

A == — - B

Ay € ® <
2

c 2c 2

(C) (D) c

yzTd & AR & feu fr=fefaa & &9 |81 € ?

A p= B p= g

v '
vtei/;»: % (D) p=RLA

Which of the following is correct for resistivity of a material ?

A p=£4 B)  p=my

(€) p= %— (D) p=RLA
fervar-sraoTar SR g &

(A) c% (B) dx.dV

(C) %% (D) ¥ ¥ HIg Tl



Potential gradient is equal to

! v (13) dx.dV

W G

e (D) None of these
S

10. foea ooieq @ s.1. A §

(B) -l

© aleeier o) (@)D

S.1. unit of clectric flux is

(A)  ohm. metre (B) ampere.metre

5 1
(C)  volt-metre (D)  (voli) (metre)

11. moneﬁﬁ'ﬂﬁﬁf@ﬁﬁaﬁqnﬂmmqﬁ%7

(A) 4 B 8
C) 42 (D) 100
Which of the following values of n is not possible in rclation Q=ne ?
A 4 (B) 8
C) 42 (D) 100
12, % SR qfye duiie @ i % fog Frefefaa § S99 @88 2

€, A €, d

w = B, <5
d A

(©) S A (D) %d

Which of the following is correct for the capacity of a parallel plate capacitor ?

(A) ef:i 2 B) e?q d
d A
@ &a ® A

[117 ] C [(A)-9001-Cga)] Page 6 of 28




favgt uRa bl wifes @R &

A VR B) VIR
v 2
(©) — (D) Ve.R.I.

power ol cleetrie circuit is

A VR B) V2.R
©) 'K;' (D) VZ.RI.
uiftdia wfaard g &

w = B =

€ w.c (D) ‘ul,g

Capacitive reactance is

w C
A e B %
. 1
) w.c D) 2z

yfael & @R %0 | frafatea § s9 ofe @99 @@ g ?
@A) favaR (B) W
© fasEior 3R 4Ry g (D) 3 ¥ &g A

Which of the following is the same in parallel connection of resistances ?
(A) Potential difference

(B) Current

(C)  Both Potential difference and current

(D) None of these

171 C [(A)-9001-C@33) Page 7 of 28




l6. T & AR I §

@A) 10°mH (B)

(€) 10 *mH (D)

One henry is equal to

(A)  10°mH (B)
(D)

(C) 10 *mH

7

- A (B)
A T =576931
© T, =(0-6931)x (D)

Which of the following is correct for radioa

.
(A T, = 576931 (B)

(C) T,=(0-6931)2 (D)
18. frafafea d s @81 € 2

(A)  (1100), =(12)0 (B)

(C) (1111), =(12)p (D)

Which of the following is correct ?

(A)  (1100); =(12) (B)

(C) (1111); =(12)0 (D)

19. T e ¥ forg Frefefaa § &9 @ e 2

(A) AND, OR, NOT (B)
(C) NAND, NOR (D)

10 mH

10 *mH

10°mH

10 ®mH

Fednifiza o & forg P 3 @ W € 7

1
=5

1
Ta =32

ctiverelement ?

I

>

7\

a

T

1
a—x—z.

(1001), = (12)10

(1011); =(12)y0

(1001), = (12)10

(1011), = (12)0

AND, OR
OR, NOT

[117 ] C [(A)-9001-C3) Page 8 of 28




22.

which ol the following is correct for fundamental gate ?
(A} AND, OR, NOT (B) AND, OR
(C)  NAND, NOR (D) OR, NOT

fratabad 4 s safer =@ & 2

(A) 1T (B) w -H1

©)  BoF (D)  FEzE
Which of the following is not charged ?

(A) Photon (B) w -particle
(€) B} -parucle (D) electron

&I AR &1 T1-wre § Qen 1 & 9F ar €

(A) 1 (B) 2
<y S (D) 4

The value of yellow colour in colour code of carbon resistance is

(A) 1 (B) 2

(C) 3 (D) 4

AT TI9ar &

(A) iRy B) favyar=R

(©) ¥/ (D) ¥ A HIE Tl

Voltameter measures
(A) resistance (B)

(C) currcnt (D) none of these

(117 | C |(A)-9001-Cy33) Page 9 of 28

potential difference



23. | s amear e
4neo

2.2
gx 10 9Nm“c

(A) 9 x10°Nm?c? (B) 5
x 10 2 Nmzc
(€ 9x10'2Nm?c ? o 9
The value of y 1 is
RGO
3 2_.-2
(A) 9 x lO9Nm2c'2 (B) g x 10 9Nm (o4
(€) 9x10'2Nm?2c2 ) 9x107'2Nm?c
24, frafafea & o9 devy @& 2 2
el = =
(A) E=-§ (B) E=qF
- bid ) -
(€) E='% D) E=73 € #
Which of the following relations is correct ?
- e
@ E=L B E=qF
—»_ q -’= 1 i
(C) E-§ (D) E=4= %2
25. faga-fovg =R gar @
w
@ = B 3
€ wg (D) Jwg
Electric-potential is equal to
q w
@ = (B) 5
€ wg D) Juwg
[ 117 ] C [(A)-9001-C33) Page 10 of 28




e et faya-ameet @1 5.1, o e 2

(A) cm (B) cm?
(€) em'! (D) cm™
S.1. unit of eleetric dipolc moment is
 em (B) cm?
(C) cm’! D) cm-2
g1, T TS (F) TR g ¥
| (A)  1CV B 1cv!
(€ 1cv2 (D) 1cv?
Onc farad is equal to
(A} 1CV ® 1cv!
(€ 1cv? (D) 1cv?
08. RN weTh Y Rufirer w1t 2t &
(A) CV? (B) 3cVv?
1 ay2 1 ~y2
€ ZCv D) SCV
Potential energy of a charged conductox.' is
(A) CV? (B) 3CV?
1 k72 1. w2
© LoV D) LCVv
29. yehrel-ad form siifaess wifer &1 s ® 2
@ B w9
© e (D)  WehTT i st
[117 ] C [(A)-9001-Ci33) Page 11 of 28



30.

31.

32.

M Distance (B)

The unit of which physical quantity

(C)  Energy (D)
o ve geaselt @ s gan wfdtad g @

(A)  @Toales T Hiul (B)
() andfas R g (D)

The image formed by simple microscopc is

(A)  Virtual and erect (B)

\}e)/ Real and crect (D)

is light year ?

Time

Intensity of light

oA AR T
arefas 3R 3

virtual and inverted

Real and inverted

e S FRT Freferfan § whar oz QW g e S § 2

A) Tere-gftear (B)
(C)  SRI-GRITe (D)

q-gfeea
st

Which of the following eye defects is removed by convex lens ?

(A)  Nearsightedness (B)

(C) Presbyopia

(D)

Farsightedness

Astigmatism

aot-fgetaor ermar & fon Freferfaa d i Goy 81 @ 2

_HBy, K,
SO e (B)
u, =1
(C) =4
w H, K, (B)

w=(p, = K, )1y, —1)

=Pu-l1,

By —1

117 ] C |(A)-9001-C3) Page 12 of 28




A A

which of the following relations is correct for dispersive power ?

B, =R _
(A) lU:—_‘ — r (B) w:(ﬂ" - pr)(py ‘) :
Ry 1
i<y
Y My My
((’, n,, - H, (D) py -]

faitcd H TSI BT AT ¢ ¥ | BTG (u- 3/2) § TEH AH EM

3

N ® =
4-

© 3 o 5

velocity of light in vacuum is c. Its value in glass (u=3/2) will be

I ® %

© % © 3

AT FETERH & fog @il quaRte ®i es il @

A Sfo-f B)  foxfe

@ £ O S+ 1.

The lcr;glh of an astronomical telescope for normal adjustment is
A So-te B)  foxSe

@ % O S+ ],

1% @Y e F 3@ F o BHE T ST A &

(A) 1 mm (B) 2cm

or” 25 cm D) 1m

117] C [(A)-9001-C33) Page 13 of 28
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Focal length of eye-lens of a healthy man IS about

(A) 1 mm (B) 2cm

(C) 25 cm . (D) 1 m

A . a
36. 7xwu-mﬁmfﬁfaﬂﬁaﬁahqahﬁaﬂmg‘?

A A-4 4 A , A-4 !
(A) X e Y + He (B) X Y+ He
Z z=2 2 Z z+2
A A+d 4 A A+d
€ X—— " Y+ He (D) x— Y+ He
Z z=-2 2 Z zv2 :
_ A
Which of the following represents the a -decay of X ?
A Ay A-4 4 Ay A4y, “He
’ B
(A) P _— z—.?Y + 2Hf.“ (B) P 42 2
A A+4 4 A Avd !
©  x— v+ THe o) L x—— YN
z z=2 2 z a+2

37. fFoafafae & 19 Gifee &0 T8 8 2

(A) g (B) I irAc|

(C) a -hUT (D) EGE Ml

wod Apnysqasq mmm//:sdpy

Which of the following is not a fundamental particle ?

(A) Neutron (B) Proton

(C) « -particle (D)  Electron

38 TV YARW & feg Pt § #F gha-wE € 2

(A)  30-300 Hz (B)  30-300 kHz

(C) 30-300 MHz (D)  30-300 GHz

e frequency range for TV broadcasting ?
(B)  30-300 kHz
(D) 30-300 GHz

Which of the following is th
(A) 30-300 Hz
(C) 30-300 MHz

[117]C I(Aj—QOOI-C[sj Page 14 of 28
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AT 1 819 % fom Fctfefaa @ 21 anE w9 & 7

39
(A EH B M
Wh - :
ich of the followmg units i1s correct to measure attcnuation ?
(A) decibel (B) ohm
(C)  ampere (D)  volt
40.  "F pIAFR HE-UAF BT 2
(A)  ETERE
(B)  HUTEfE
(€C)  #HAEfE
(D) 9E YA AY R FAAA Afera 399 agEE @)t
A p-type semiconductor is
(A) positively charged
(B) necgatively charged
(C) uncharged
(D) uncharged at absolute zcro temperature but charged at higher
temperatures  https://www.bsebstudy.com
41, ET3ET QOE] H ez H gAGH Feig FHI0ig & e €
(A h B 2
N h h
€ 3 L Y
The minimum orbital angular momentum of an electron in a hydrogen atom is
(A) h (B) -'21
h h
©C 5 ® 3
[ 117 ] C [(A)-9001-Cy33) Page 15 of 28




A1 3ES Y] FETASAT €T &

42.
(A) 3 (B) 4
< 5 (D) 6
Donor impurity atom has valency
(A) 3 (B 4
c S (D) 6
43, fowt anam @ st wERgEd ( e, ) E41 8
(A) _e_e__ (B) EXEg
)
(C) €E+€j (D) €-%
The relative permittivity ( €, ) of a medium is
(A) = (B) €x€g
€0
(C) €+€, (D) €-€
44. U fag mqérgﬁwfaqa-ﬁmammim%
_1 4 B 14
(A) 4ne, 'r Bl arney r2
1 4a
q.r D - S5
© an €, & 4n€g T
e r from a point charge g is

The value of electric potential at a distanc

1 q
. B (B —— 7%

@ g s
2

1 4

q.r (D) 3
‘C, an eo 4n eo r
Pagc 16 of 28
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(A FA IEy 3 3
x P HAG (B) M .
Pl HARH
F AW
c - .
P NGy (D) Pl AN x FA HGAA
Surface density of charge is equal to
(A) Total charge x Total area (B) T;tal charge
otal arca
(C) Total Charge
Total volume (D)  Total charge x Total volume
qr1 1 GO i g &
€1 (D) 425
The diclectric constant of water is
(A) 80 (B) 60
€ 1 . Bl 425
R = @} gatt &} fargm-wifcan 2t &
R
A 2% 3 (B) 4neyR
4n e
(C) R = (D) 4xe, .R?
Electrical capacitance of earth of radius Ris
R B 4ne, R
vl Te, (B) 0
4n e 2
0 (D) 4ney.R
© —5 0
17 ) C |[(A)-9001-Cg3) Page 17 of 28




18.

49.

S0.

uep fina auEy e e

1 i
(A) -
] UbUs
188
(©) 1Ak 1 3 D) gz
One ampere is equal 10
(A) I coulomb (B) 1 coulomb 1 second
I second
1 ohm
(C) 1 volt x 1 ohm (D) m
fagga Algeh dcl @l S 2
(A) e B) 4
© A o) =g T TR
Unit of eletromotive foree is
(A) newton (B) joule
(€)  volt (D)  ncwton/ampere

;imﬁméﬁfatzht:rfaf@aﬁm’maﬁ%?
7% A.C. &1 D.C. H agerdl €

(A)
(B) g8 D.C. I A.C.H a&er €
(C) 78 b.C. AfzaT P T J1 el §

(D) TE A.C. Feeal P Fgi g1 9T €

Which of the following is correct for transformer ?

It converts A.C. into Ie.

(A)

(B) It converts D.C. into A.C.

(C) It increases or decrcases D.C. voltage

(D) It increases or decreases A.C. voltage
Page 18 of 28
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e S O IR

e " (B) '/\Nm
Q) A.m Am
‘ (D) 5

51 umt of magnetic pole strength is

= ® ox
s A.m A.m
() (D) 3

gl & JEET Y W T9T HI07 F1 A @A 8

@A 00 (B) 90°

) 45° (D) 180°

The value of angle of dip at magnetic pole of the carth is
Ay 0° (B) 90°
c 45° (D) 180°
foafer @1 rrenra wgfer o1 7 g &

(A) 05 % TR B) 3
(€ 1% SR (D) Y
The value of magnetic susceptibility of vacuum is
(A) equal to 05 (B) infinite
(C) cqual toone (D)  zero

gmwﬁam(p)é;favﬁmﬁﬁaﬁﬁﬁ?muﬁ%?

B
(A) ;.-.-% B) w=i

(©) un=B.H . (D) w=(B+H)

7]C [(A)-9001-C33) Page 19 of 28




eability ?
4 b . for perm
Which of the following relntions 18 corret

B
m F°H

H
(A) 7]
(D’ po= (B# ’I’
(C) p=13.H
2 wF B 4
| urfi &ﬂaiuu:mnm’rvla,aﬂm 7
55. gl quald 1 urfra Jrashla ;
i | _ ;
£ &1 3¢U UTH B, & d farfaf@a A #H T
. i "
(A} B, < Beosd B) By =Bcos
(€C) B, = Bsind (D) By =By sind
¢ idi 5 i lc of dip, B
Il B is carth's magnetic ficld in magnetic meridian, o 18 angic 0 f
-’ -
: . 3, then whu{
horizontal component of ;3' and By is vertical component of £
the following relations is correct ?
(A) B, = Bcosd (B) B, =Bcos®
(C) B,, = Bsind (D) B, =By sind
56. fogm-geg T F GaRvr F) R @ €
= . — a; g
(A) E % |EIR (B) B % WA
- = .
© (B x E)¥ Wiw (D) (ExB)% GHIK
The dircction of propagation of electromagnetic wave is
» -
(A) parallelto E (B) parallelto B
B x B -
(C) parallelto( B x E ) (D) parallel to (E xB)
117 ] C [(A)-9001-C33) Page 20 of 28




fifeiliga 1 gy Wias fer & GAfERROT SR aferaul e & ?

(A Sk
(€ TR

mterference of light is the redistribution of which of the following physical

quantitics ?

(B) GIEGH

(D) A

(A) Frcqucncy (B) Intensity

(€) Wavclcngm (D)  Speed
cg, PR 1 O gem gy 3

A F (B) A

(C) 9-1 x 10 :“kg (D) 1:6 x 10 27kg

The rest mass of photon is

(A} zcro (B) infinite

(C) 91 x10 3k (D) 1:6x10 kg
59. R N‘TIF‘:' NG| B )

(A) E, -E, = -;—hv (B) E,-E, =hv

‘ - ‘ -— - 3
(€  E, -E, =3hy D) E -E,=3Fhv
Bohr's frequency condition is
1
(A) E -E, = h (B) E,-E,=hv
. _ i

(C) E,-E, =3hv D) E -E,=3hv
60. TR Hell BT HId gl &

) Ay foguea B) Tt il

(C) ¥ woll 1 faretiu (D) iR Foa
[ 117 ] C [(A)-9001-C33) Page 21 of [l



The source of solar encergy 18
(A) nuclear fission
(B) chemical reaction

> JE PRT ¢ icles
(C)  annihilation of clementary parti

(D) nuclear fusion
SR p—p—— LR
@) A @)
(€ g () T
Which of the following is the best conductor of electricity ?
(A)  Silver (B)  Copper
(C) Gold (D) Zinc
62. NOR-ZR &I fergd edsieh gral &
(A) A+B=Y B) A.B=Y
(© A.B=Y p) A+B=Y
Boolcan cxpression for NOR gate is
(A) A+B=Y B A.B=Y
(C) A.B=Y \)D( A+B=Y
63. fi-amur WA (1001), F S HEA &l €
(A)  (12))0 (B)  (18ho
© (9o o (@5)o
Page 22 of 28
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vhe decimal number of binary number (1001), is

(A) 124
(B) (180
(! 90
(D) (25))0
! I % 997 & R R ufady & ares d 368 HE AT €
Al l.R 1
‘ B) I.R%.t

I
(= . Feet (D) 12.R%.t
The heat prod :

Produced in a conductor of resistance R duc 1o flow of current [ for

umc 1S
I. R.
(V) ¢ B) I1.R%.t
( I,
(C) R. 1 (D) 12 R2. 1
5 wesla (SHA) T Yas1g &3 gU&r &1 §
Faz ;
(Al an(—,ﬁﬁ (B) 5 x 105 _aa_'{__
T1ZR)2 (HieX)?
i g
x 2 R P
() S5x10 () (D) 5 x10% 9 (Hie) 2

Magnetic field of 5 tesla is equal to

(A} S x —% (B) 5x10° _‘l’_c‘;‘_’%
(metre) (metre)
i 5 x 107 ﬁ (D) 5 x 10? weber * (metre)
e

qeTEAT YR T rms. A () SR Ve o) w1 Rie "= (Io) F 9

(A) 0-505 I (B) L™ 0-606 I
(C) - 0-707 I, (D) 0-808 I
Page 23 of 28
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) and peak valuel

( alternuling current | VI

The i
relation between r.m.s. value ©

of al ;
ternating current (/) 1S

) I, ms 05051, (B) Lo ™ 0606/
(C] I'.m.s_ = 0:707 ’0 lD) ” —_— = 0808 ’0
6 .~ g N »

4 '“““"‘!f“walﬁma?umqﬁwﬁLmarawmﬂm
yferara & a= #an @
(A) % (B) w.L
c) - L

ncc L in @€ circuit 4

by an inductor of inducta

Inductive reactance offercd
www bsebstudy.com

angular frequency © js https¥/

(A) % (B) w.L

(C) ‘—o-lz (D) .‘_ﬁ.
88 Wwﬁmﬁmﬁﬁmmaﬁ%?

(A) mmmwmmmwﬁﬁ

et A 9T

@ I TS o sz e

c WW‘M

© e g

(D) afﬁqvﬁﬁailmmwwfﬁxmﬁmwfml 3
[117]C (A)-9001-Ce3)] Page 24 of 28 ;




power
€ average power

Cc P
(C) ower factor = x True average pow

(D) Power fac
or =3 [ Try
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Expression of force on a charge g moving with velocity V. in a magnetic field
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Question Nos. | to 20 are Short Anst

carries 2 marks :

Wwﬁmmaﬁﬂammﬂﬁ?ﬁ%a'

1.
Write two essential conditions of constructive interference: :

2. 3 &) iR e @ a9 ¥ A € 2
What do you mecan by power of accommodation of ¢y¢ ?

3. HEOEE @ G ¥ FHIA € 2 2
What do you mean by semiconductor ?

4. fecas sy & @EEd | -
Explain sccondary rainbow.

s, am-amed fram @ fod :
Write Biot-Savart's law.

6. fagd oFFR I wHed | &
Explain electrical resonance.

% wmwé;ammﬁmaﬁwﬁmwm?? 2

| What do you mean by apparcnt angle of dip at any place ?

8. g @ faw fod | 2

Writc Brewster's law.
2

9. giawnR ° ang-ed w 9EE |

Explain copper-loss in a transformer.
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18.

19.

W07 Tra 41 g |

Explain solar cell

AE F il @ smq 0 qua § ?

What do you megp by capucity of a conductor ?
m;xalmmamﬁq&wilms.l.mﬁfﬂﬁ' 2

Define volume density of charge. Write its S.1. unit.
S 2
P T W T e 3 i 3

Define eleetrie flyy on a surface

TraHY vy gy 2

Define magnetice potential. .
umm%wmqmﬁq%fmm"ﬁﬁh@ @/

Write necessary conditions for total internal reflection of light.

TIEA YU | 3q gy wa ¥ ) ‘ @
What do you mean by Paschen series ?
NAND-ER& Ht F53im | @
Explain NAND-gate. |
A HIge iy @
Explain [requency modulation.
2

et () ferom & <t it @ ferd
Write two properties of beta ( ) rays.

' 2
o TR G

Explain n-type of semiconductor.
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ﬁmm/wuum’,mequ;m? | gdw & fry
mmzz#zsﬁdmmilﬁﬁﬁ3m 3x5=15
5 @ fruifra 2 : estions. Each

Answer any 3 qu

Question Nus. 21 to 26 are Long Answer Type Questions. 2 %518
qweslinn carnes 5 murks : 5
21, WA @ % few A T gan g3 wifoa &
= =1) ik
/ R, R,
Establish the formula for thin lens given below :
1
—z=(t=1) | =— = —
f = (RI "’3)
S

22, WYt yeneeil &) sEnda s & fom o anA w1
ICroscope.
Find out the expression for magnifying power of compound microscope
249 dﬁhqﬁ}n-ﬁwz%mwhﬁqzh@hwiﬁm?ﬂmﬁl S

. . ; g z . . 1o a small clectri
Establish the expression for electric potential at a point duc 1o a sm ¢
dipole. https://www.bsebstudy.com

2AT A R & a-nner-ne & few i s #51) S
Find out an expression for root mean square valuc of an alternating current.

25, SO, S iR wie qEEt i & i @ o s
Write propertics of diamagnetic, paramagnetic and ferromagnetic materials.

26. Ww:mwmmmmammma & 2 teanfea we

QifﬂQfWZ?H?I(N=NOe""]WTﬁTaﬁI 5

What do you mean by halfl-life and avcragc life of a radioaclive substance 7

Establi IS i =
lish disintegration formula (N = Ny €™ ) for radioactive substance.

g%\\\
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